
Part No. 67127 – Rev 3/2000

REPLACEMENT PARTS CATALOG

CP-1A, CP-2A
HOT PLATES

CP-1A 63401 - 120V/1250W
CP-1A 63421 - 240V/1250W
CP-2A 63601 - 120V/1800W
CP-2A 63611 - 240V/1800W

APW / Wyott
FOOD SERVICE EQUIPMENT CO

DALLAS, TX 75226



PN 67127 REV-1/97

CP-1A, CP-2A HOT PLATES

ITEM             STOCK
NO.             NO.                  DESCRIPTION

1. 63605                                            WRAPPER & TOP ASSEMBLY CP-2A
2. 63404         WRAPPER & TOP ASSEMBLY CP-1A
3. 63604         BOTTOM COVER CP-2A
4. 63406         BOTTOM COVER CP-1A
       63505                                           BOTTOM COVER SS WITH SS LEGS CP-1A
5. 55768         RUBBER FOOT
6. 63411         HEATING ELEMENT 120V - 1250W
       63621                                           HEATING ELEMENT 240V - 1250W
7. 63608         HEATING ELEMENT 120V - 550W

 63620                                            HEATING ELEMENT 240V - 550W
8. 63407                                   RANGE RING USED ONLY WITH 63408
      63408                                   DRIP PAN USED ONLY WITH 63407
       63455                                DRIP PAN USED WITHOUT RING
9. 55564         INFINITE CONTROL 120V

 87053                                           INFINITE CONTROL 240V
10. 55825         KNOB
11. 55947          POWER CORD
12. 89101         POWER CORD STRAIN RELIEF
13. 63012         INDICATOR LIGHT ASSY CP-1A
14. 58483         INDICATOR LIGHT ASSY CP-2A
15. 89476         WIRE NUT

       NOT SHOWN
       88961                                   10-24 GREEN HEX NUT
       89120                                    JIFFY CLIP
       89061                                   10-24 HEX NUT
       89059                                    #10 EXTERNAL LOCKWASHER
       89087                                    8-32 X 3/16 BINDING SCREW
       89073                                    #8 X ½ SHEET METAL SCREW






